e BEeo=Y

U T &I IR SMT (H)
AMH: ﬁ:ﬂa; Eﬁ?:_
A s 2. Ay L2, L Lo 6ol Lyio, L
(7) (Z) (Z) (7) ) GG ) (5) (15) (51) (5)2
(7)3'(7)2 (3)79'(5)4
2-3,21,2 1o L Ll 3 -5,300,3 4
(5) (5) (5) (4) (14) (14) (4) ( ) () ( )
(1)79'(1)73
235 o2 ye 2y 255,021,028 LR SLRC IR
(7) ;7)(7) (5) (5) (5) (3) (13) (3)
(;)710 (5)3
4 10,4 10,400 15 15 15 36,310, 31
(9) (Z) (9) (6) (16) (6) ( ) ( ) ( )
(§)79 (6)75
2010427021 32,303 403y 2602 802yl
(3) (23) (3) (5) ;5) (g) (5) (7) (;) (7)
(5)*8 (g)”'(g)*9 )

www.snowmath.com



https://www.snowmath.com

ElElel=E

U T &I IR SMT (H)
qH: IGICEE W:_
Ao e Ay LR IAIWENST Treoda o, Lo
(5) (Z) (Z) (5) () 7(3) (%) (3) (15) (51) (3)
— of — — _11 — ) 7o —
(7)3 (7)2 (7) (3) ’ (5)4
f 15 l 13
) (3)

230212 Doidyidysdy
() " 3) G @G

3 < 34 3.
(g) 5‘(@)9‘(§) !
23 Do Ly- 30
) (37 )
1 36
(Z)

25,202 205,02 1,2 8 LRTIPLIC I
) y)g) Q) ;) 3) %)(y
G 3 ()

% 7 l 6
) 3)
410,410,410 1, s dvs 31603y 10,3 1
3) %) 3) ) %)(@ (D) %>
(5 (3)° (3)°
f -1 l 0
3) ()
210,27, 2 3233y a2 2 6,28, 21
3) %)(y ) ¥><$ ) ) z><g
(5)_8 (g)_7‘(g)_9 (;)5
224 321 23
3 () )

www.snowmath.com



https://www.snowmath.com

